

Use Cramer's rule to solve Sov
$$Z$$
 only:

$$\begin{cases}
x + y - z = -2 \\
2x - y + z = 5
\end{cases}$$

$$-x + 2y + 2z = 1$$
Always
$$\begin{bmatrix}
1 & 1 & -1 \\
-1 & 2 & -1 \\
-1 & 2 & 2
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -1 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -1 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -1 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -1 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -1 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 & 1 & -2 \\
-1 & 2 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
1 &$$

Solve by matrix Method: Augmented Matrix
$$\begin{cases}
x + y - z = -2 & 1 & -1 & -2 \\
2x - y + z = 5 & 2 & -1 & 1 & 5 \\
-x + zy + 2z = 1 & 2 & 2 & 1
\end{cases}$$

$$\begin{cases}
-2R_1 + R_2 \rightarrow R_2 & 1 & 1 & -1 & -2 \\
R_1 + R_3 \rightarrow R_3 & 0 & 3 & 1 & -1
\end{cases}$$

$$\begin{cases}
R_2 \div (-3) \rightarrow R_2 & 1 & 1 & -1 & -2 \\
0 & 3 & 1 & -1
\end{cases}$$

$$\begin{cases}
-3R_2 + R_3 \rightarrow R_3 & 1 & 0 & 0 & 1 \\
0 & 3 & 1 & -1
\end{cases}$$

$$\begin{cases}
-3R_2 + R_3 \rightarrow R_3 & 1 & 0 & 0 & 1 \\
0 & 1 & -1 & -3 \\
0 & 0 & 4 & 8
\end{cases}$$

$$\begin{cases}
-1R_2 + R_1 \rightarrow R_1 & 0 & 0 & 1 \\
0 & 0 & 4 & 8
\end{cases}$$

Solve by Matrix Method!

$$\begin{cases}
3x - 6y = 1 & \text{i) Augmented Matrix} \\
2x - 4y = \frac{2}{3} & \text{if } 3 - 6 = 1 \\
2 - 4 = \frac{2}{3}
\end{cases}$$

$$2R_1 \rightarrow R_1 \qquad 6 - 2 = 2 \\
3R_2 \rightarrow R_2 \qquad 6 - 12 = 2$$

$$(-1)R_1 + R_2 \rightarrow R_2 \qquad 6 - 12 = 2$$

$$(x,y) = 3x - 6y = 1$$

$$(x,y) = 3x - 6y = 1$$
There are infinite #05 Solutions.

Class QZ 13

Evaluate by expanding about first row!

$$\begin{vmatrix}
1 & -2 & 5 \\
3 & 1 & 2 \\
4 & -1 & 7
\end{vmatrix} = 1 \begin{vmatrix}
1 & 2 \\
-1 & 7
\end{vmatrix} - (-2) \begin{vmatrix}
3 & 2 \\
4 & 7
\end{vmatrix} + 5 \begin{vmatrix}
3 & 1 \\
4 & -1
\end{vmatrix}$$
=1(7+2)+2(21-8)+5(-3-4)

=9 +2(13)+5(-7)
=9 +26 -35 =35-35
=0

Solve by subs. method:

$$\begin{cases} x^2 = 29 + 10 & \text{Non linear system} \\ y = 3x - 9 & \text{os equations} \end{cases}$$

$$x^2 = 6x - 18 + 10$$

$$x^2 = 6x - 8$$

$$x^2 - 6x + 8 = 0 & \text{Zero-Product Rule} \end{cases}$$

$$(x - 4)(x - 2) = 0 & x - 4 = 0$$

$$x = 4 & x = 2$$

$$x = 4 & x = 3$$

$$x = 4 & x$$

Solve by Subs. Method:
$$(x-y)^{2} = 3 = x^{2} + y + 3$$

$$(y+3-2)^{2} + (y+3)^{2} = 4$$

$$(y+1)^{2} + (y+3)^{2} = 4$$

$$(y+1)(y+1) + (y+3)(y+3) = 4$$

$$y^{2} + y + y + 1 + y^{2} + 3y + 3y + 9 - 4 = 0$$

$$y^{2} + 4y + 3 = 0$$

$$y^{2} + 4y + 3 = 0$$

$$y^{2} + 4y + 3 = 0$$

$$(2,-1) \qquad y+1=0 \qquad y+3=0$$

$$(2,-1) \qquad y+1=0 \qquad y+3=0$$

$$(2,-1) \qquad y+1=0 \qquad y+3=0$$

$$(2,-1) \qquad y+3=0$$

$$(2,-3)$$
Final Ans: $\{(2,-1),(0,-3)\}$

Solve by addition method

$$\begin{cases}
4x^2 + y^2 = 13 \\
-1(x^2 + y^2 = 10)
\end{cases}$$

$$\begin{cases}
4x^2 + y^2 = 10
\end{cases}$$

$$\begin{cases}
-x^2 - y^2 = -10
\end{cases}$$

$$\begin{cases}
3x^2 = 3 \\
x^2 = \frac{3}{3}, x^2 = 1
\end{cases}$$

$$\begin{cases}
(1,3), (1,-3), (-1,3), (-1,-3) \\
4 \text{ Answers}
\end{cases}$$

$$\begin{cases}
y = 9 \\
y = \pm 3
\end{cases}$$

Solve by addition Method:

$$3(3x^2 + 2y^2 = 35)$$
 $(9x^2 + 6y^2 = 105)$
 $-2(4x^2 + 3y^2 = 48)$ $(-8x^2 - 6y^2 = -96)$
 $4(9) + 3y^2 = 48$ $(x^2 = 9)$
 $36 + 3y^2 = 48$ $(x^2 = 9)$
 $3y^2 = 48 - 36$
 $3y^2 = 48 - 36$
 $3y^2 = 12 \rightarrow y^2 = 4 \Rightarrow y = \pm 2$
 $(3,2), (3,-2), (-3,2), (-3,-2)$

Solve:

$$\begin{cases}
y = x^2 + 3 \\
x^2 + y^2 = 9
\end{cases} \Rightarrow \begin{cases}
-x^2 + y = 3 \\
x^2 + y^2 = 9
\end{cases} \Rightarrow \begin{cases}
y^2 + y = 12
\end{cases} \Rightarrow \begin{cases}
y^2 + y = 12 = 0
\end{cases} \Rightarrow \begin{cases}
y = 3
\end{cases} \Rightarrow \begin{cases}
x^2 + 3
\end{cases} \Rightarrow \begin{cases}
x + 3
\end{cases} \Rightarrow \begin{cases}$$

The Sum of two numbers is 10.

Their product is 24.

It is 24.

Their product is 24.

$$x + y = 10$$

Sind both numbers.

 $x + y = 24$

If $x = 4 \Rightarrow y = 10 - 4 = 6 \Rightarrow 4 = 6$

The numbers are

 $x^2 = 24$

The numbers are

 $x^2 = 10x - 24 = 0$

Multiply by -1

 $x^2 = 10x + 24 = 0$
 x^2

The difference between Squares of two numbers is 3.
$$x^2 - y^2 = 3$$

Twice the square of first number increased by square of the Second number is 9.

Find the numbers.

$$x^2 - y^2 = 3$$

$$2x^2 + y^2 = 9$$

$$3x^2 = 12$$

$$x^2 - y^2 = 3$$

$$-y^2 = 3 - 4$$

$$-y^$$

Class QZ 14

Solve by matrix Method:
$$(-2)R_1+R_2 \rightarrow R_2$$
 $\begin{cases} \chi - 2y = 5 \\ 2\chi + 3y = -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 2 & 3 & | -4 \end{cases}$
 $\begin{cases} \chi - 2y = 5 \\ 2\chi + 3y = -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ 0 & 1 & | -4 \end{cases}$
 $\begin{cases} 1 & -2 & | 5 \\ | -4 & | -4 & | -4 \rangle |$
 $\begin{cases} 1 & -2 & | -4 & | -4 & | -4 & | -4 \rangle |$
 $\begin{cases} 1 & -2 & | -4 & | -4 & | -4 & | -4 & | -4 \rangle |$
 $\begin{cases} 1 & -2 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 & | -4 &$